Mock test 3

Test: Mock test 3

Test date: 27/04/23 02:28 PM
Time taken: 00m 20s

Number of items: 3

Achieved points: 7 of 8 point(s)

MultipleChoice

Gained: 1 of 2 point(s)

What does 3/4 + 1/4 =7?

v O 1

K X 4/8
L[] 8/4

v X 4/4

Directed pairs

Gained: 5 of 5 point(s)

"Directed pairs" task

%/ 100/50 =
W | 1274 = @
| 2572 = @

TextGapOpal

Gained: 1 of 1 point(s)

The speed of light is | more V than the speed of sound

Checksum: 6deac3035e99b219508ab59d557889156c45723bb6035fbc6a67052ac1a75721
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